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1.(5 pts) The substitution required when evaluating

/ sin” z dx

isflu= oz X
No justification is required.

2.(5 pts) The substitution required when evaluating
/ tan® zsec® ¢ dz

u= dec ¥

No justification is required.

is

COMMENT. The substitutions above may be done after some ”preparatory” work. You
are not required to show this work.
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3.(10 pts) Evaluate
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4.(10 pts) Write out the form of the partial fraction decomposition. Do not evaluate the

coefficients:
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5.(10 pts) Evaluate
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7.(10 pts) Evaluate
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8.(10 pts) (a) Find the exact value of the Simpson’s Rule approximation S, for fow/ *sinz d.
Your value should include q quantities like 7, /2, v/3, etc., no decimal approximations.
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b) Use the fact that (Z)° < 10 to decide if the approximation S in part (a) is accurate
2
to within 200

COMMENT. All required calculations can be readily performed without the use of a,
calculator.
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